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c}(ang‘e:

Jocule Obluse
’GQH St raigh’r

In the diagram BD bisects ZABC. Find m 2ABC.

(8x—23)°
(5x + 16)°
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d@ng‘e goddition Fostulalte:

If P is the interior of £RST, then m4£RST = m4£RSP + m4PST.

@ Given m£ABC = 94°, find m 2CBD. @ Given m£QRS = 135°, find m 2QRT.

(3x+ 15)°
(x+7)°
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Congruen’r :

d@ng‘e Biseclor:

Write three name for each of the angles below. Name the vertex and the sides.
Then, tell whether it appears to be acute, obtuse, right, or straight.

g C (2] T (3 L
Y&\) D R
A E . S T

Types of d@ng‘es



F Y’O‘T’CMZ*OP P OS*U‘CI‘B:

Consider OBand a point A on one side of OB. The rays of

the form OA can be matched one to one with the real
numbers from 0 to 180.

The measure of £AOB is equal to the absolute value of the
difference between the real numbers for O4 and OB.

Use a protractor to measure the angle to the nearest degree.
Write two names for the angle.
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Answer Key!
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%na‘e: An angle consists of two different rays with the same
endpdint. The rays are sides, and the endpoint is the vertex.

" ~ > sides
vertex

Jocule Obluse

Greater than 0° and less than 90° Greater than 90° and
less than 180°

N,

bight Straight

Exac Exactly

N
A

In the diagram BD bisects ZABC. Find m 2ABC.

>
5x+10=7x-8 8x—-23 =5x+16
-5X -5X -5x -5x
10 =2x-8 3x-23 =16
+8 +8 +23 +23
18 = 2x 3x =39
2 2 3 3
9=x x=13
(5x + 10) + (7x - 8) (Bx —23) + (5x + 16)
5(9)+10+7(9) -8 13x -7

45+ 10 + 63-8 13(13) = 7
10) 16@7
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d@ng‘e goddition Fostulalte:

If P is the interior of £RST, then m4£RST = m4£RSP + m4PST.

@ Given m£ABC = 94°, find m 2CBD. @ Given m£QRS = 135°, find m 2QRT.

(3x+ 15)°
(x+7)° -
B C
(Bx+ 15)° + (x + 7)° = 94° (Bx+ 1)° + (2x — 6)° = 135°
33X+ 15°+x°+7°=94° 3X°+ 1°+ 2x°— 6°=135°
4x° + 22° = 94° 5x°—5°=135°
-2 22 +5°  45°
4x° = 72° 5x° = 140°
4 4 5 5
Xx=18° X = 28°
X+7 3x+ 1

18 +7 4259 3(28) + 1 859

Congr’uen*: Two angles are congruent if they have the
same measure.
The symbol for congruent is =,

d@n le Biseclor: An angle bisector is a ray that divides an
oné?e into two congruent angles.

Write three name for each of the angles below. Name the vertex and the sides.
Then, tell whether it appears to be acute, obtuse, right, or straight.
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2ABC, 2CBA, «B +DEF, £FED, «E 2RST, £TSR, £S5
Vertex: B Vertex: E Vertex: S

Sides: BA and BC Sides: ED and EF Sides: SR and ST
Acute Right Obtuse

Types of d(ang‘es



F Y’O"Y’CIE*OP P OS*U‘CI‘B:

Consider OBand a point A on one side of OB. The rays of

the form OA can be matched one to one with the real
numbers from 0 to 180.

The measure of £AOB is equal to the absolute value of the
difference between the real numbers for O4 and OB.

Use a protractor to measure the angle to the nearest degree.
Write two names for the angle.

(4] ®© °

A £ DEF
£ABC £FED
£CBA

34° 67°
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(6] (7] 21K

2GHI 2 JKL
2IHG

119°
90°
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Directions:

Print pages 1 & 2, and 3 & 4 front to back (5 & 6, 7 & 8 for the
answer key). On my printer, | use the option to print double
sided and to flip along the short edge.

Have students line up the two pages as shown:
L. e

H

Frotractor Foshilale
d@ng'e Soddition Fostilale

Next fold over the top portion and secure with a few staples.
Lastly, have students cut along the dotted line on the right
side, to cut off the extra piece.

The final product should look like this:

easure & C‘assify

c)@ng‘es

Types of Kngles

Frotractor Foshulate

d@n‘q‘e Jeddition Foshlale

* Note: This foldable has been scaled down to fit info an
inferactive notebook. That is why the extra piece is cut off
the right side of the pages.



